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> eigen(SDF1)
$values:
[1]1000000
$vectors:

V7 V6 V5V4V3V2V1
1 1.000000 0.000000e+000 0.000000e+000 0 0 0 O
2 0.750000 0.000000e+000 8.906702e-016 0 0 0 O
30.250000 1.018589e-015 0.000000e+000 0 0 0 O
4 0.435000 -1.000000e+000 -1.000000e+000 1 0 0 O
50.106800 -3.453018e-001 -2.164329¢-001 0 0 1 O
6 0.270975 -7.150497e-001 -5.960811e-001 0 1 0 O
7 0.187225 -4.861217e-001 -4.141617e-001 0 0 0 1
> z<- eigen(SDF1)
> z$values
[1]1000000
> z$vectors[,1]
1 2 3 4 5 6 7
10.750.25 0.435 0.1068 0.270975 0.187225
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<- SDF5[,1]

<- SDF5[,2]
par(mar=c(7,4,0,0))
plot( ,
text(locator(1),"t1
text(locator(1),"t2
text(locator(1),"t3
text(locator(1),"t4

, SUb="¥n

~— N N —

10

t2

t2

S-plus

18




AHP/ANP

S-plus

19




S-plus

AHP/ANP

S-plus

ANP

S-plus

20




[1]
2]
[3]

[4]

AHP
AHP

Vol,48 No4 pp259-264,(2003)

AHP  ANP
Vol43 No.1-6 (1998)

(2000)

(2000)

S-plus

21




Appendix




(1)

Cl

(consistency index)
/Imax — 0N
n-1

Cl =

0.15

AMmax:

0.15
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(3)

t1 43 18

2 48 17

t3 42 15

t4 27 5
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